





Lesson 9.1: Solving One Variable Equations and Inequalities

Solving Radical Equations
1. Remember that when taking an even root while solving, usea +
2. Remember to check for extraneous solutions
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Solving Inequalities:
*When dividing or multiplying by a negative on both sides,
switch the inequality sign.
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25- The first stage of a rocket burns 28 seconds longer than the second stage. If
time for both stages 1s 152 seconds, how long does each stage burn?
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26-  The sum of the lengths of any two sides of a triangle is_greater than the length of the third
side. In triangle ABC, the side BC 1s 4 and the side AC 1s 8 — AB. What can you conclude

about AB?
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